Lesson 5

Name .
COMMON CORE STANDARD CC.4.0A.3 .
Lesson Objective: Use the strategy draw
dinaran | . ltioicati
Problem Solvi ng e M ulti ply L

2-Digit Numbers

A library ordered 17 cases with 24 books in each case. In
12 of the cases, 18 books were fiction books. The rest of the books
were nonfiction. How many nonfiction books did the library order?

Read the Problem - ~ Solve the Problem

What do | need to find? e First, find the total number of books ordered.
17 x 24 = 408 pooks ordered

| need 'to fing hoW many nonfiction

books were ordered.

« Next, find the number of fiction books.
12 x 18 = 216 f|ct|on books

What information do | need to use? « Last, draw a bar model. need to subtract.
A7 cases of 24 books each were
4 ordereg . 408 books ordered

s In 12_cases, 18 books were fiction

ars books. 216 fiction books

o | L 1

How will | use the information? '
408 — 216 = 192

| can find the total number of bc.>oks So, the library ordered 192 nonfiction books.
ordered gnd the number of fiction '

books ordered.

Then | can draw a bar model to compare
Al |the total number of books , e
number of fiction books,

1. A grocer ordered 32 cases with ; 2. Rebecca rode her bike 16 miles each
; 28 small cans of fruit in each case. day for 30 days. Michael rode his
| The grocer also ordered 24 cases " bike 25 miles for 28 days. Who rode
with 18 large cans of fruit in each farther? How much farther?

case. How many more small cans of
fruit did the grocer order?
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. Name

Problem Solving « Multiply 2-Digit Numbers

Solve each problem. Use a bar model to help.

Lesson 5
CC.4.0A.3

1.

Mason counted an average of 18 birds at

his bird-feeder each day for 20 days. Gloria
counted an average of 21 birds at her bird
feeder each day for 16 days. How many more
birds did Mason count at his feeder than Gloria
counted &t hers? '

Birds counted by Mason: 18 X 20 = 360

Birds counted by Gloria: 21 X 16 = 336
Draw a bar model to compare.

Subtract. 360 — 336 = 24

360 birds counted by Mason

336 birds counted by Gloria

So, Mason counted 24 more birds.

The 24 students in Ms. Lee’s class each
collected an average of 18 cans for recycling.
The 21 students in Mr. Galvez's class each
collected an average of 25 cans for recycling.
How many more cans were collected by Mr. .

Galvez's class than Ms. Lee's class?

At East School, each of the 45 classrooms has
an average of 22 students. At West School,
each of the 42 classrooms has an average of
23 students. How many more students are at
East School than at West School?

A zoo gift shop orders 18 boxes of 75 key
rings each and 15 boxes of 80 refrigerator
magnets each. How many more key rings than
refrigerator magnets does the gift shop order?
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